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What arc lactors govcrning o1'cletland'?

I:.xplain the t1,pe s o1'Dcnrand.

OR
Delrrrc the law of dcrr-rand. Wlrat are their exceptiorrs?

Ilxplai n Measurcrlcnt o1' lllastic ity o1' Demand.
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lrxplain'Law o1-returns to scale.

Dcfine'Cost'. llow are costs classil'ied?

Def ine diseconomics of scales.

Ilxplain the 1bl lorving:

OR

i. Cobb-Douglas Production Irunclion

Distinguish between nronopoly arrd perfbct cornpetition.

Dellne Oligopoly and state the ltatures.
OR

Write a short note on new econor-r-ri<.: environment.
Write a short note on the following :
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Write a short notes on
i. Paybacl< period

\\zrite a slrort note on Journal and Ledger with 1bi'rnat.

Write a short note on thc lbllowing :

i. Activitv ratio ii. I'rofitabilitv mtio
OR

Mention the advantages o1' double-entry book-keeping.
\\/rite a short note on the fbllowing:

ii. Trial balancc
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ii. Cosl plus pricing

Ilxplain brielly Net Present Valuc technique. 6M
The cost ol'the project is Rs.50000. which has an expccted li1'e of live years. The cash

inflow for the next fivc years arc Its.24000, Rs.26000, I{s.27000 and Rs.16000 6M
respectively determine paybach period.

OR
Define Accounting rate of return n-retliod.
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ii. MRTS

ii. Net present Value method

i. .lournal


